Tableaux des Puissances de Dix (B)

Divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (B) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 1000 0,01 10 10 000
42 0,042 4200 4,2 0,0042
44 0,044 4 400 4,4 0,0044
71 0,071 7100 7,1 0,0071
69 0,069 6900 6,9 0,0069
50 0,05 5000 5 0,005
+ 10 100 10 000 1000
42 4,2 0,42 0,0042 0,042
97 9,7 0,97 0,0097 0,097
41 4,1 0,41 0,0041 0,041
39 3,9 0,39 0,0039 0,039
4 0,4 0,04 0,0004 0,004
+ 0,0001 1000 0,1 100
1 10 000 0,001 10 0,01
70 700 000 0,07 700 0,7
17 170 000 0,017 170 0,17
73 730 000 0,073 730 0,73
18 180 000 0,018 180 0,18
+ 100 10 000 0,001 10
14 0,14 0,0014 14 000 1,4
36 0,36 0,0036 36 000 3,6
93 0,93 0,0093 93 000 9,3
53 0,53 0,0053 53000 5,3
80 0,8 0,008 80 000 8

MathsLibres.com




